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Intellectual Property Law
(@fge wer fafd)
(Master of Law LLM-12/16/17)

First year, Examination-2019
Time: 3 Hours Max. Marks: 80

Note:- This paper is of Eighty (80) marks divided
into three (03) Section A, B and C. Attempt the
question contained in these sections according to

the detailed instructions given therein.

ukVi& Tg gea—a=r vLIh 480% @it &1 & S riu 4034
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Section-A Hi[k.M&d}
(Long Answer Type Question) ik mUkjh; i"ub
Note:- Section ‘A’ contains four (04) long-answer-
type questions of Nineteen (19) marks
each. Learners are required to answer any

two (02) questions only. (2x19=38)
UkVI& @ve ‘& # IR (04) <" IR U fod A B
I% Ue & forg I+ (19) & eiRa g
R @ s A dadt a1 (02) T B IR
o B
1. What is intellectual property? What all the
types of intellectual property rights? Discuss

the protection of IPR in international

perspective.

difgd e | 87 difge IHer IfeRl &
UHR R 8?7 NS HeH H difgs awer
SIABRI &1 Fedr HI fIa=a=T iy |
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2. What do you understand biotechnology
patents? Discuss the Indian policy and
position on the regulation of environment
and health hazards in biotechnology

patents.

g Wenfie Uoe ¥ Y @ 9Hed g | Oid
genfiier Uce @& WeW W ugileRer ud
ARII—GaR] & fATae FHd wRadg fq g
Rerfar &1 auig S |

3. Discuss the concept of novelty of inventions
protected by patent law. Discuss the

different evidentiary problems in piracy.

Uee fafr g WRf&d smfaseR &1 Fd=dr &1
YR BT goid dIfSTY | urgvel d  fafer=
J1ef FETRI BT quia BT |
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Discuss the role of IPR in hazardous

research.

gMeRe g H difges e iffeR @
IABT BT auie BT |

Section-B (Wis—w)

(Short Answer Type Question)@(cTg I %)

Note:-

ukVi&

Section ‘B’ contains Eight (08) short
answer type questions of Eight (08) marks
each. Learners are required to answer any
four (04) questions only. (4%x8=32)
Qus @ H 378 (08) ofg TR dTel Ued &y
™ B TS UE B fay oM (08) 3id
feriRa €1 Renffal & 379 & daa IR (04)
Tel B SR o7 2 |

What is the underlying theory of the TRIPS

agreement?

for TR @ eia fad T Rigral &1 9vi
HIRT?
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2. What is traditional knowledge?
TRURTT §9 /T 8 2
3. Discuss the role of IPR in the area of Food

security.

e PRl & Hew H dlfge dwHar o Hd

BT IO BT |
4. Write a note on copyright protection on
internet.

Scxe 9wl gfaferrtareer aken R fewof
R |

5. Describe the sui generis protection of plant
varieties on Indian.
arel @l fafr=T gl @ ded H YR gs
STRY GReTT BT quid BT |
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6. Write a note on consumer protection VIS-A-

VIS trademark Law.

AT AReT0T 99F IR g A w® U
o forRRay |

7. What do you mean by piracy of patents?

Uce &1 YISl | 3T AT AHS &7

8. What do you understand by plant patenting?
Wi Ui | Mg 1 HHed &7

Section-C (us—)
(Objective Type Questions) / (¥ U)
Note:- Section ‘C’ contains ten (10) objective type
questions of One (01) marks each. All the
questions of this section are compulsory.
(10x1=10)

- wue ‘T A W (10) SR Y KA W OE,
TO% T & fau ww (01) ¥k fwifa ?) @
e & gt yeA e B
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1. The team of every patent granted shall be.
(@) Ten Years
(b) Twenty Years
(c) Thirty Years
(d) Sixty Years

4T TS UF UST P A BT |
(a) &9 99

(b) dr~F ¥
(c) o oy
(d) 95 a9
2. A trade mark does not include.
(a) Shape of goods
(b) Packaging
(c) A single Colour

(d) Combination of Colours
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R foe § aftaforg g1 8
(@) HT BT AHR

(b) erdsH
(c) Tdh T
(d) < BT Afdsor
3. Distinctiveness is one of the essential
features of a trademark. (True/False)
FR=TaT AR o8 &1 U Ry a0 7 |
(I / 399)
4, Copyright does not subsist in:

(@) Sound Recording

(b) Musical Works

(c) Computer Programmes

(d) None of the above

PIIRIgE Fr=felRaa ¥ 9 fas 81 381 2 |
(a) waSS R&IfET

(b) wfar® i
(c) HFYeX U™
(d) T A IS &
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5. Can two persons who made an invention by
their independent efforts, get independent

patents for the same invention.

T U AHR & o a1 @feddl gr1 e
U YR, 99 JMIWPR BG U UK HRA
Ay B | g/

6. The Controller general of patents, designs

and trademarks appointed under section 3
of the trade marks Act, 1999 is to be the

controller of patents. (True/False)

IR e gy, 1999 &) URT 3 & Ir=id
fgad Uce, feoea iR dede & U<

forzizres &I | (| / 1)
7. Mathematical, processes are patentable
under the patent Act, 1970. (True/False)
TR gfshard Uce Sfafm, 1970 & ST HR
Ude A E| (w7 / 3rc)
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8. India decided to product plant varieties by a
Sui Generis law i.e. the plant varieties Act.

(True/False)

YRA F UiET {6 @1 gg SFRY Sfwud dien
o ifdfras & grRT gRem & fotg form 2

(T / 3)
9. According to WCT, 1996 for any kind of

work the team of protection must be at
least.

(@) 20 years

(b) 50 Years

(c) 60 Years

(d) 30 Years
WCT, 1996 & 3R fell 1 &1l & ford grer

@1 37afey gAaH B AT |
(a) 97 a9
(b) U= IY
(c) 9IS Iy
(d) o @y
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10. The term of Protection for a variety in case
of tree & vines from the date of registration
shall not exceed.

(@) 10 years
(b) 15 Years
(c) 18 Years

(d) 20 Years

gell T ofdrell & Wy W fBE a1 gRer @
qafy MTeyE o fodie 9 = smfa «
3fferes el srf:

(a) =9 a9

(b) ¥eg ¥
(c) oBRE Iy

(d) 99 a9
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